
(4t

a r (+) 'qB5K'Tffi effi frcT{q oc< offi<
iFrfir-cfi {cFfq frFK sz<I r

qcr{/

("r) '.lsIfr {c{< <FF, \eu{q cn<q ?

cfllR ft qrft< qsm{ +a[r"
'cr<sr src'' sR-'c-r< stRfi q+q?rl SfrRs

"ti&ror(n{ftcs{qrr1l r

v r (+) ?rw' attc$ Trqnq q-+srr ,{sE frrN Eft.$r
rcrcq r 3rsil'4t-+ q{{T({ qrcEIE{ TrlI r

qCEI

({) 
"mq'effilffief 

t(srt{Tcdr r

***
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20t9

BENGALI

( Major )

Paper : 6.1

FlullMarks:6O

fime : 3 hours

The figures in tte mnrgin indicate full marks
for the qtestions

) I firiTf{{fc{ Gq'{ n€ : )x1=1

(+) ''snm c$raql 

- 
ft 6sNrd rr{ qt6r il r"

( Tdiar T{'tsc-il )

(r) <rRpf+m cflrtrcRftdltrA?

)o

)o

A9-2OOOl637 3 (Sem-6) BEN M 1

(fl) ktqr' dfr$ 'ffi csFlrr crrfr < r?ffir
qqqqfr r" rffi Om tn,gq r
(, rrsr

(o :T.f{r

/u, {d{Ir
6rl Srfrn

( ca$ffi 6{cE 6fc{r )

A91637 (TumOuer)



<l's fqtm Es{c< $q afie+ c+rl Rra{ fiil
firc oclRrrrr

'CE-<Ei|l gII' qR.c-rs il{r6{d crfr{ ffi ft r

'fl-+"-q' sftsm 1a rrvr< an ft r

'\ge aarcb \ mn qfuq frs rfr r"
'qGlt<' TR-gB +Fr nc"i3r qt <f{ chsgt

{6{cq ?

r r qBxftgUq<ns:

c t liftg b-c< tts (c< cqrat ffi) . cxe=)c
(+) ff+t c+c+r:

{ TFFI qEF[ {{SqFI
(1) D-fl ce-ffi :

1+Fil qcr<l -+rq' {tr+ qrq<
(r) 'qNEi< iler ffrs qrsfl 6src-s ar, c'{k-s

qrqt r{cv cE{ r" ft emzq ,ryrn <rw r-'rS
q+e[ {6{cq;r, xrsr1 qrcqlF{ F6fl I

({) "e cl-l nR qcq ffiq {cq ffir frgr.T(
c{qt r" s{q Grn-s s-6d qr6a1u{ Tm r

(s) "q?lr{t qNn qqr E{R,
c{em E(aIq {T\e vR <ft ,,,

ffifu!t-{rxftgR+<qne r

8 r (T) "qBo r1a TEFnd qtcs c{ fi-cqzr ,4sfin

yBa c<nze Er6$ <rsr rfr{ fit{ {i?es
cbc-{ ftT qwco q'rq X.s{c Lsc{< flat qgt cEI
q{r 6+t6{t flal cfr. r" 'rtqt' {tcs $fr Xr.fdT<
rfrq qrcqrF{-arfi q-qffi< xqrqq frDT{

szitT I 5o

qe/?I

({) {T{ cr,gst r&{ qF[s caws ]r1-fi flrs ffes
<rerm \it-{ qT, qRffi-s <Tg rFr F6rcE{ r

krw' attm rr$n DB-o q-6{rFrr sr-"r {s<iBr
srqld frErd qrfl r

(s)

(s)

(u)

(E)

(+) 'tsc< qT$ IE, qqs-{i c,c-NK rzsR qrql,
conr* +rsfr {r<, cwlr< {a.eR 6{ T{ {<.t
qrcs srrl r" <sl cf ? TI3r r6t ftft w<
EE;{t TrdrE{ ?

(i) "hR T6o en< frRq _
4\t t"

1+rrn 1.f om r

(fl) 'ffi {!Fr qTeFI sftb cans e? C{.e-fi rqEr
6{ sr\T<t R"t i <l cq-{ cc'{ r" {sl 6s ? sEI

rylrd ffi q? ql{.[ c"fRq qadc{{ r

(s) 'cr6 Gqt' eftw eg Imr q{, sr+q FreEm
csU frTrE 6{ frfiRzr{? &fr fi m
sr<Rrry{?

\ x8:u

A91637 ( Continued ) 1i91637 (Turn Ouer )
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l4l

v r (+) '6.r6ffi sks't' bq-+npr< qg<t{ uR-qefr{ cqi

cate,F cs corm fF uRcqr ErcffDoII s-6n I

q?/?I

({) \T"toi' 5r6ild qIEFFsclR atcFf,sr frv;g a6g ;

***

)o
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20L9

BENGALI

( Major )

Paper : 6.2

Full Marks: 60

Time :3 hours

The ftgures in the margin indbate full m.arks

for the questiors

) I q& qtftg/fuflT{lzr Es< qTs : )x1=1

(+) "qrfu qnffir ws vFrr 6TFr 6"g6nQg wv*
gVK qT'FI; qTq qR C"'r{&. qFIK CqTCb <HI,
vF[ €fr6{ <rqR r fr-q qqr qFFIls fin t"
TgI CF ?

({) qr<qm Fr'fi( arq ft r

(a) ffi, ffi=qfl 6sr

(q) 6q6Ftt{r6F qnqr fr {ffi vrrv ?

(s) !pp' rrcr qmt iFr6F im <TR?



12)

(u) '\qfroru-scqa o.gt finz{ _ esz< &ECT
wsi€ U.-eIs ffiE r,'

("1{rtl{ tf +z-<r )

(q) "'slg.t3[! vrsKl' q-qpq ofre r qQ wfs
<rcq ... t" a$'r{ r1-q ccr6p 6{sn1 qcrcq?

I r qiftg E-e-< qle :

(3

(q) "'m qtyE srcq <'rq ft eoB wpe Ellrts-fl
il{ r" Oefr< gqq fuq 5-6a1 I

(s) (({fcq{ 
e<i lrft qq F cTtslr "n frm w-,,lflr

R\T {s.t "JSq t" g,tq Oea{ +r< Bfufr<
otqfl{ Rasq T-cfl r

(s) 'sF,cRifl' 6tafl{ qROD<q Dffi qr-rEr5-{.r

TGII I

8 r (p) '6"r6ffi Tkst' b"r*rrm wofu .{iqlo' qqKI
'1w "rRD-{' qft ffieq&R ffi R-{s
T-'{I I

lrcml

({) "{uqrffi Tc{i s fl 6src-{I ,sFq-{ {te 4g, *
qE qrS:IfCT 'tS{; qry159 {I? ftZT 6D'[RI ofre t,'
EGB< qr6Er.r qfis Dffi frcmq n-cgr r

c I (+) 'frftc{' 6rdBrc erB W q"rrtft {.fi
afuffi' ftqzr T-cb 0z rq et \Tr.EID;w <t5-(_<t I

lTCmr

(1) '?ftu-{Eem 'T'fiE o1pq1q' e1-sp5s q6fift:-q a
sffifrz<r qtot crc< frcs v+ lm fi{ rr r qm
Dgl"nk cfllrcffi el-q' <-{R qqti t,, ryiIrcEIEGF-{
q? {s<i$ r-PT ,3rqqnrrr q fturs n-rsr r

\x8=b

(+) "ofcl qtq qhq e ft "nq-qIfr <r.rc{! IqrCT
T. qBr[ c{cs Er.s qr+ qrq ccrF q{ast qr
RrgB DFIR +cr frce t,, q{r6{ !q-agq, aq6s
csnEqr{< Te[ (dTt <TCq?

(q) ,ir$Frr& "BrqflE 6$

ffiearqr

e r r\rstpf "B\sT qte (cq csE{I ffi) :

(1) 'T'fAr- "fl\Iot' 5rrfrf, $qmB cfl{I{ q<i a$.r{
iAK ft-< w<Ro- r

(s) "ffi qrtcR qmrg qRERcs <r& Efr Trq
<t<-c<, frgvro xrstu Grc< Fl r" 6s, srGF
qscil <(Tcq{?

$.l3t qTI 41t T-a{ )o

)o
cx9=)(

(m)

({)

'c.rcm Fkq' B"wrffi csB fifi{ Dffi
TTEFII FGII I

'6rmt trfut' gowm wFI?r+ ftes "frqzr(
fuqfi1a5qt I

491638, . ( Continueit ) Asl63A 'i': ,

'( Turn Ouer )
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20L9

BENGALI

( Major )

Paper:6.3

Full Marks : 60

Time : 3 hours

The frgures in the margin indimte full marks
for the questions

> r qfr lGg B-q< n'e : )xt=q

(+) smQs qrq\otR-{-fi< TCs g{FI En'eBr
(l) 'ffi cvm sFF lsr* c+b { qrc{, q6{ +Fqt

urEf 6d"--{sn {fl{ bEr<{.| r

({) @, k'(.t' cs {Hl $crrcqi ?

(q) Snrs'rs Qrq{ES cfi ff qrq qnmfis

Te{cqi ?

(u) ft"+rtc-ul cfrR-+ q{smk ffi ?r
(u) "q$frr{ GEil 6fl({r <rslfr TR {wbr

carFFflFfli ses ?{ <frqr+ +Ru ewt
sc3[cE[ t" ,{ {3t6ffi ,q{w {glfr +ftt ffi
t-rg,{ {'6dt r

(q) 'cnR 1ta'-,m qTref frretal\ frt( r+n
q-a1 qq aiiQTaml

A91639 ( Tum auer )



2

q | fi(+fitqfi rifrg Gs< rr€ : \x 8=b.

(e) qer+tR-scrl:rcs FFI fi{.r ffi-rr+< sn cqfr
sfffrt

(1) 'AE T6{t sr6< $'nrn cE 

-, 
fte t<-rcm

srcEc t"nsn <q_ r

15mn {or<r )

(fl) <K-{R {CE fE fr-drlt$$ <irt $Fr,'-.r< TN
CATr{I I

(x) o c+rc+ fE. tr*re :rqFFm'-q< (titerary
epic) an mct I

,: t a*Tqtfi Ee< ns (cr cslzqr ffi) : cxe=:c

(T) a+-{ mq{ qkr q\<fr' Tdrcs ft c$<rm r
I(qfl TTqTFII T'6{T I

(q) S&Mr sFnry' $rcrr fiqTs: qt fiqTeo<
qtsnftcc< {s<r ry(s[l qrcaflFt sc3[ r

(fr) 'ftB.$fiq' Fr6F srfl q1 'ftffi1'q qsq \3

?<Es, ftrs qt6qtu+ qc<t r

(x) 'Q\r<ezs 1E "rt 'Fiction' € 'Novel' <r{'s
ertef{Q <ads qfiir {c$ 1N mt+i wrq r,'
q? ottf+l rrrffi qza rfl q6l I

(s) {{r $Fns { neo-ballad rq(s ft c{r<IT r
,n-qrsr qe clft< wRcux fu< ql-q s cs{
<skE, qrcqTFdt scifi r <TiErE €? R6ts cIRqI-
:r+-lr.r< fin fa rsql rE ft .l qrcqIFI <Fcdl r

3

e t ffiR-s a& eq con-o qwq-+fr oc< F-cq {ffi
ffi:rcrg Uq<ne : )oxe=eo

T-Sq

(+) qnfr+ ER '6.n+' fi-w< erc<rq ?q'-,a 'fRqE
q{ \r-l qIfdlIFIT Sall I

(1) 'hr(rJr q-qr 'KA' T6E li,Kt st:E q6dcql,

srr<rir qN[ 'rq' {rq 6rfl b"E\sK qclrqq r"
ql tfur fficgfrzs sKBl srq<orR-ocq-{ Tr<T-

e@mm RCa,l(r* tacr qrqrxr Fffi 1

(5t) ft+t 6{c.n :

+++q, irffd cislFlirK r

r{-Eq

({ ) "sR crvrr <q3 s-6{ qrfi iffi6{-d lq, frcr alt
srcr< ffi urqcq r" {:I[caIID'6EI q? {gcr,<
,rfrcsfrcs qrtnre< q\BI, Gqr q<r fi-qA-fi
qmfrrEfrRo+r<r r

(s) ems-ft<r rt6n ir6{ ? v&qs a<rq< t<FB
ffr <futts eraffig GsR s @qR-sp.t {Tcs
qr@fiFlt Frfl I

(u) smft qEl{slir rltcu {aFprrfli{ ErFq s t{ft?,
ficq cq qrqtffi <rscs vl qfi-qilr qfi,r'tFolclir

?{lrqIE-{R aql'$FI??F qrcd Ffi sr{l I

)I(

Aig1639 ( Continued ) A9-20001639
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2o L9

BENGALI

( Major )

Paper : 5'4

Full Marks : 60

Time :3 hours

Tle figures in the mnrgin indiete lull marlt.s

for the Etestions

) I sBqrftg0stttrg: )x1=1

(r) 'frfiR' lrqr qqf ft r

({) 1rrsntkffi T{nr rN ft?

(q) TK trffi?RIreo?

(q) ,ilq onqRs qrcs ft r

(s) 6"t!t crsrFts wfoT rys6q fr {rfr qrs ?

(u) conRq* aflrlr qRfiA nA h1,{rfu ilq ftr
(q) yqfuqr{ etr< F wqrr srerl 6$

6qc<Ra 2



t2t
\ | x&gUsdtls: \x 8=r.

(s) {Td 6ftrr qn <ten cer6s 6sR Iqlzr fi-dc{
ffice-{r

({) 'frs< ffsl rrflrr &zqsm w+s qvs aoR
ffi1" <-er c+r m fizw fisrfu ftT qzqm

er@ W-qficrcqn?

(x) 'ti&r rc"ie Tfl qs r" qQ '{&-Tfl' m 6$ r

(R) 'tqBQrqi{RflB
qBQqltftosl& r"

tft{ ft$ fi nh' S"rma r+, prc+ lrPrs'
ir@rcE ?

s r ff1ftlEs g{sftrt-s{rils (cs-crr-{ ffi) : cxe=)c

(+) hrc<sr frftR' {b.s Tqr cftm-<'r $rFrrF{
e$fiftfi.I{N r

(q) Trflt "rfro qqrdN \e {lrlt 1r6FI ?Fcgl'tsct-{

c".,nFd1.f{r$-(1t I

({) hrasn frftR' {Er$i nsrT'c-r DR-qftr flRDr

kl\3 I

(q) 'Cfu Rtt {e flrr' tl-+rcr< '{Aqr' qrr
qFErfi:[rFflq \e 5-,1rd qcqTofselFt Rw{€ ft
Qq, c{ffi r

(s) c{Frfl rqal uffi c(csc"r q-6qlu-{t iF[<tt I

(3t

8 r (T) hrcdsn frftR' qrbc+a awEqq nf+ <rcq
ft {, ftcrsq r6dr r

q?{,

(i) "+rrlsn fifiR' llbm-{ T.th Effi ftcml
qC3II I

(i) 'Bfu frqr Frfa't'r*trcq fi1v-ot< {tTTd cl
<ro< ffiE sfro {ffcq st ftcyqq s6$ |

q3.{l

(s) " 'E cT.t qr, e$' Ts$E +or ENm ftRu q-aqr

Errnrffit ffirlq Q-qr s qqzqr gB l-+q
$ffiffi8o ersrm ftT.f{ l" TersB Bnqi{6r

fics e!, qryrc e <rcqlk flRuq ng r

(s) tercasr frfiR' qtr+ sn&am qsns{Hl
ffurr< 'm-qnqo qrfl&-$ {qrma< Rru6
frrcrq cqrqq r(GrE{ sr qttce aTrk
ryt<frv<-c*alRmns r

q?Ti

(u) tffl fi$ R 16r' b,rflrffi qrflq Dftr6
ftcg{q rGI r

)o

>o

)o

)o

)o

5o

A916.fi ( Continued ) A9-2OOOl640

***

3 (Sem-6) BEN M 4


